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w1512 0212 908125 0212
3900 = 7= 3907+ 00 3000 = 30115 00 3900 = T 39142 00 3900 = = 30145 00
PL 00008209 ¢ 00001578 i 0.001102 000016 [ B -0001263: 000017S pL 0000336 + 00002232
3800 [ B 3800 - 3800~ T 3800 [ 1
3700~ _ i 1
3700 B 3700 ] 3700 1
3600 - — [ 1
3600~ —
- 3600 — [ . ] 3600 [ u E
1 1 1 1 1 1 _L 1
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cb.ch)=(2, 10,4) TVC(cb.ch)=(2, 10,5) TVC(c.b.ch)=(2, 10,6) TVC(c.b.ch)=(2, 10,7)

ol L 3929 0.0 - m 3932+ 0.0 - L 3940 0.0 - o 3925+ 0.0
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TVC(c,b,ch)=(2, 11, 0)
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TVC sigma (RMS) (c,b,ch)=(0,1,0)
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TVC sigma (RMS) (c,b,ch)=(0,2,0)
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TVC sigma (RMS) (c,b,ch)=(0,7,0)
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TVC sigma (RMS) (c,b,ch)=(7,8,0)
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TVC sigma (RMS) (c,b,ch)=(7,9,0)
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